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<EBEH>
X Kk TR 30 7 5 12 0.40 0.17
NI L@ 30 6 5 11 0.37 0.47
KER K% i 30 5 1 6 0.20 0.60
HAZX FET 8 30 - - - - 0.13
R i 30 4 0 4 0.13 0.17
=15 25 LdE 60 10 7 17 0.28 0.42
A& Rl i 30 5 5 10 0.33 0.40
BiRX B L@ 90 20 8 28 0.31 0.28
iTdt i 30 6 4 10 0.33 0.18
B [eap=A:0 8 60 16 19 35 0.58 0.33
B3 TS 3 il 30 1 3 4 0.13 0.13
IFRNIX IR L& 60 21 14 35 0.58 0.63
B il 60 10 3 13 0.22 0.32
I v |l il 90 21 20 41 0.46 0.43
FFeRTH mE L@ 60 - - 9 0.15 0.22
Fmm e TR 30 9 2 11 0.37 0.27
ETEHTH T H i 90 31 17 48 0.53 0.50
BET BE TR 30 5 4 9 0.30 0.57
<HEEH>
IRK EEtES [GE 3 30 4 2 6 0.20 0.23
BIX B3 [SE S 30 4 4 8 0.27 0.33
A lIESE S [SE 3 30 7 6 13 0.43 0.27
B B3 TS 3 [SE 3 30 4 3 7 0.23 0.37
Erh EREE [SES 30 4 12 16 0.53 0.37
<IEHE>
XRX Iz TSIk 30 5 1 6 0.20 0.50
T—roZ5Tk 30 6 15 21 0.70 0.73
ATIT 30 6 1 7 0.23 0.47
T32499F7— 30 16 30 46 1.53 0.80
aRK BRI % BEIZ 30 3 0 3 0.10 0.27
IERR EHIE A& Bl 30 - - 24 0.80 0.67
HASR weTH WE A 30 - - 7 0.23 0.17
PEFX REFTE A& Bl 30 3 0 3 0.10 0.30
X FITE BR-EBT 30 5 0 5 0.17 0.33
A5 X tEETE T 30 7 0 7 0.23 0.33
BERX AL NS A 30 6 1 7 0.23 0.33
INEHTH INEHTITE A 30 10 1 11 0.37 0.73
BR-ET 30 8 1 9 0.30 0.30
<BE>
HEAX E= BE= 30 6 2 8 0.27 0.30
#itX - ES Bx 30 13 2 15 0.50 0.53
B mE BE 30 14 14 28 0.93 1.13
FFeRT =¥ BmiLE 30 - - 17 0.57 0.57
<BEH>
HhEHHH |[EBATH TR 30 7 2 9 0.30 0.23
by mER= TE-EXE 30 7 9 16 0.53 0.70
<EXH>
|2ER & B 60 20/ 4 24 0.40| 0.42
<TEBRFH  BAIHI>
KEHEX TR i 30 1 4 5 0.17 0.23
HEEIR 30 6 1 7 0.23 0.20
X RS il 60 22 13 35 0.58 0.60
WG WIEEE 5 30 5 5 10 0.33 0.40
HHah HFlke wae 90 38 16 54 0.60 0.28
RABKT |RABXKRE we 60 25 14 39 0.65 0.58
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